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Instructions :
1) This question paper contains Five sections and total 63
questions.

7)  Answer the question aceording to the instructions.
1)  Flgures to the right side indicate full marks for the questions.
4)  Start a new section on 8 new page.

SECTION - A

] Select and write the correct alternative (A, B, C, D) from
the options given below from guestions 1 to 15. Each

question carries 1 mark : [15]

1) For which type of distribution a graph is drawn?
(A) Discrete
(B) Skewed
(C) Ideal

(D) Continuous

2} What is the maximum value of Physical Quality of Life Index
(PQLI)?
(A} Zero
(B) 100
(C) More than 100
(D) Less than 100
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3)

4)

3)

6)

Generally which countries are related with the concept of
economic growth?

(A) Backward

(B) Developed

(C) Developing

(D) Third World Nations

What is called the rate at which RBI borrows funds for
very short term from commercial banks?

(A) Bank rate

(B) Open market operations

(C) Reverse Repo rate

(D} Repo rate

How many major types of deposits exists in banks in India?
(A) 2

(B) 3

(C) 6

(D) 10

What is the type of inflation when the government controls
imflation via rules or laws?

(A) Cost induced

(B} Suppressed

(C) Galloping

(D) Open

What was the economic system called that allowed exchange
of rice for clothes?

(A} Monetary system

(B) Banking system
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(C) Barter system
(D) Loan system

8) How many minimum daily calories per person per day is
decided by Indian Council of Medical Rescarch for urban
areas”

(A) 2400
(B) 2300
(C) 2200
(D) 2100

9) What is the percentage of malnourished people in Indid in
2014-167
(A) 205
(B) 11.2
(C) 152
(D) 23.7

10) Compulsory nature of unemployment is seen in which
context of labour supply?
(A) Active
(B) Children
(C) Passive
(D) Elders
11) Who presented four measuring rods of measuring the types
of unemployment?
(A) RajKrishna
(B) Mahalnobis
(C) Keynes
(D) Marshal
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12)

13)

14)

15)

In which year economic planning started in India?
(A) 1950

(B) 1951

(C) 2000

(D) 1901

Which one is the institute of agriculture research in India?
(A) ICAR

(B} CIBRC

(C) Regional Rural Bank

(D) RBI

When was NABARD established?

(A) 1982

(B) 1975

(C) 1969

(D) 1947

What is Public Sector?

(A} Sector run by government.

(B) Sector run on cooperdtion.

(C) International sector.

(D} Sector run by people
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SECTION - B

Answer the following questions from 16 to 30 in one to two
sentences each. Each question carries 1 mark : 115]

16) What is meant by a bar diagram?

17) What is per capita income?

18) Which factors are included in the Human Development Index?
19) Write the definition of inflation given by Dr. A.P. Lerner.

20) What is cost push inflation?

21) Give the meaning of a bank.

22) Give the meaning of monetary policy.

23) What is poverty line?

24) What are the three important parameters included by UNDP

in Human Poverty Index and Human Development Index?
25) Which age group is called productive age group?
26) What is meant by cyclical memployment?
27) Give the meaning of Death rate.
28) Which type of production techniques are being utilized by

small scale industries?
29) Give an example of intermediate goods industry.

30) What is meant by unemployment?

022E) Page ra | P.T.O.



JVCE3

SECTION - C

Answer Any Twelve of the following questions from 31 to 46 in

brief. Each question carries 2 marks : [24]

31)
32)
kX ])
34)
i5)
36)
37)

a8)
19)

40)

41)
42)
43)
44)
45)
46)

Write-any four types of diagrams,

What are the uses of Daw CD?

Explain the meaning of Economic development.

What is life expectancy at birth?

What are the characteristics of inflation?

What is meant by Bank Rate?

What are the different types of accounts of Commercial
Bank?

Explain gender inequality as a reason for poverty in India,

Labour intensive technique is more applicable for India-
Explain.

Defective education system is responsible for
unemployment-Explain.

Why is the year 1921 identified as the year of great divide?
Why is India known as agriculture ariented cconomy’?
State the meaning of Domestic and International trade
What is meant by exchange rate”

What is special economic zone?

Improvement in health of labourers leads to increase in
economic growth, Explain.
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SECTION - D

| Answer Any Seven of the following questions from 47 to 56 to
the point. Each question carries 3 marks : [21]

47) Explain any 3 uses of computer technology in the study of

economics.
48) What are the aspects included in Physical Quality of Life?
49) Explain the limitations of barter system.
50) Define money and explain any two functions of money.
51) Explain any three economic causes of poverty in India.

52) Explain the concept of disguised unemployment with

example.

53) Explain frictional unemployment with example.

54) Explain any three institutional factors responsible for low
agricultural productivity in India.

55) Explain the types of industries on the basis of size of

investment.

56) Give the meaning of migration and explain the pull factors

responsible for migration.

SECTION - E

- Answer Any Five of the following questions from 57 to 63
in detail. Each question carries 5 marks : [25]
57) Discuss any five measures to reduce poverty in India.

58) State the meaning of birth rate. Discuss any five reasons
for high-birth rate in India.
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59) Explain any five technological measures to increase
agricultural produetivity in India.

60) Give the meaning, types and factors influencing balance of

payment,

61) Discuss any five importance of small scale industries in

India.

62) State the meaning of urbanisation and explain its positive

effects.

63) Following table shows the size of population in India in
different years. Represent the data in a bar diagram and

analyse it:

Year 1951 1971 1991 2001 2011
Population | 36 54 84 102 121
in (crores)

*Note: For Blind candidates -

Blind students have to do analysis only.
*oe
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